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Back 4o Mo EBUIVALENCE PROBLEM

Wietr does all a}-i-ﬁus. keve. +o do witte i+ 2

Proposition 2.28. There is an algorithm that determines which states of an automaton are
inaceessible

.‘I'Hﬂl_,r I.I"| IJ' — II.I'_.L.EI:J--'!J"“. .::I -H.JIIJ N = !EJ; Ij'l. t‘il|il]l.i1_|".' 214, a state ] 15 “Jil“'*""‘"i.1||.|‘ if
and only if there is no word w of length < n such that aalr?n. u') = q. Since there are finitely
many such words, we can just check 8(go, w) for all such words to determine which states are
accissible: the remnining states must be inac cessihle. QE.D.

Proposition 2.29. There is an algorithm that determines whether two states of an automa-
ton are eouivalent

Proof. We determine whether the states are indistinguishable; from this, we can easily
determine equivalence. This algorithm i= known as the fable filling algorithm. We write Q) » Q)
as 4 table; note that due to the fact that indistinguishability is an equivalence relation, we
only need to fill halfl of the table, so we can ignore the lower left triangle
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